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Data Inferences
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Plot Vertices and Classify Figures
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	A safety committee ranked roller blades for safety and quality as shown in the chart below.
[image: ]
Which brand scored lowest overall for safety and quality?  Explain.
	[image: ]
What figure is formed by connecting the points (4, 0), (2, 5), (6, 5), and (4, 0)? Be as specific as possible.
	
Blake charges $12 an hour to mow lawns.  He mows lawns A, B and C once every week.  Lawn A takes 2 hours to mow, Lawn B takes 2 ½ hours to mow, and lawn C takes 3 ½ hours to mow.  How much money does he make mowing lawns every week?
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	Zach graphed the miles he drove in 8 days.
[image: ]
What reasonable inference can be made from this data?

A.  Zach is a doctor         B.  Zach likes to drive

C.  Zach is on vacation   D.  Zach delivers pizza.
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      A.  parallelogram      B.  rhombus
      C.  square                    D. trapezoid
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	Classify the triangle formed when points (3,1), (3,7) and (6.7) are connected.
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	There are 70 fifth graders and 50 sixth graders at Amelia Middle school.  
If 1/5 of each class participated in summer camp, how many fifth and sixth graders were in the school’s summer camp?
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Ann, Barry, Chelsea, and Dustin ran a race.
The following statements were made about the
race results:

Ann finished after Dustin and Barry.
Dustin finished after Chelsea.
Barry finished before Dustin but after Chelsea.

What was the order of the finish (starting with
the winner)?

A. Ann, Barry, Chelsea, Dustin
B. Ann, Dustin, Barry, Chelsea
C. Chelsca, Dustin, Barry, Ann
D.

Chelsea, Barry, Dustin, Ann
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If the points (0, 3), (3, 6), (6, 3) and (3, 0) are
connected in order to form a closed figure,
what is the most specific name for the
‘geometric figure formed?
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The height of a horse is figured by using a
measure called a “hand.” A hand is equal to 4
inches and measures the horse from its withers
to the ground.

withers

ground.

What is the height, in inches, of a horse that is
15 hands and 2 inches in height?
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Year Fish Bird
Population | Population
2005 2,400 1,500
2006 2,600 1,600
2007 3,100 1,800
2008 2,700 2,300
2009 2,800 2,200

Based on this information, which of the
following inferences can be made?

A

In 2004, the fish population was less than
2,400.

In 2006, the fish and bird populations
both increased.

In 2008, the fish and bird populations
both decreased.

In 2010, the bird population will be more
than 2.200.
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A.  Teresa and Emily are selling lemonade this summer.

1t costs $0.12 to make each cup of lemonade.
‘They are going to sell each cup of lemonade for $0.25.

1. What is the total cost to make 55 cups of lemonade?

2.1f they sell 55 cups of lemonade, what is the amount of money they will collect?

3.1f they sell 55 cups of lemonade, how much more money would they collect than they would spend?

4. What s the least number of cups of lemonade they need to sell in order to collect $10.00 more than they
spend?
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Roller Blades Ratings
(Ratings on a Scale of 1-10, 10 being the best)

Overall

Brand afety
Down Hill 9 6
Super Fast 5 7
Too Cool 7 8
Ride On 8 9





image2.tmp
2 3 4 5 6 7 8 910





image3.tmp
Memebers Attending

2
2
23
2
2
2
19
18
7
16
15
1
13
fr}
1

Debate Club Attendance

Sep Oct Nov Dec Jan Feb Mar Apr May Jun
Month

Based on the graph, which of the following is
not a reasonable inference?

A

‘The club holds more meetings during the
winter.

‘The warmer months tend to produce
lower attendance.

‘There are fewer members in the
beginning of the school year.

Members of the club are less involved at
the end of the school year.
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Name the polygon formed by connecting in
order the points (2, 1), (3, 4), (8,4), (7, 1), and
(2, 1).




